SAP ABAP table ANLZ {Time-Dependent Asset Allocations}

ANLZ-ANLN2 = ANLA-ANLN2
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ANLA
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
ANLNI [CHAR (12)]
ANLN2 [CHAR (4)]

ANLH
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
ANLN1 [CHAR (12)]

AUFK
MANDT [CLNT (3)]
AUFNR [CHAR (12)]

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

PRPS
MANDT [CLNT (3)]
PSPNR [NUMC (8)]

TOO1
MANDT [CLNT (3)]
BUKRS [CHAR (4)]

TOO1lW
MANDT [CLNT (3)]
WERKS [CHAR (4)]

T499S
MANDT [CLNT (3)]
WERKS [CHAR (4)]
STAND [CHAR (10)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]

TTX]
MANDT [CLNT (3)]
KALSM [CHAR (6)]
TXJCD [CHAR (15)]
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